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1. The 10-kg block shown in Fig. 1 rests on the smooth incline. If the spring is
originally stretched 0.5 m, determine (1) the work done by each force acting on
the block and (2) the total work done by all the forces when a horizontal force P =
400 N pushesthe block up theplanes=2m. (20)
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5. The girl throws the ball with a horizontal velocity of v = 2.5 m/s as shown in Fig.
5. The coefficient of restitution between the ball and the ground is e = 0.8

Determine (1) the velocity of the ball just after it rebounds from the ground and (2)
the maximum height h to which the ball rises after the first bounce
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